MBSMC mecrepHu.

Ha cerogusiiHuii 1eHb 371eKTPOHUKA JOCTUT/IA HAHO Pa3MepoB, a
MHWHHATIOPU3aL[isi MeXaHUYeCKUX MeXaHHU3MOB TaKUMHU
JOCTVKEeHUSIMU T1I0XBaCcTaThCsl He MOykeT. Ho MUKpOyCTpoOiicTBa yixke
CyIIeCTBYIOT. VX MIaHUPYIOT IIMPOKO MCIIO/H30BaTh B JaTYMKaX
yCKOpeHul (akcesiepoMeTpax), JaTuhkax CKOPOCTel, aHarM3aTopax
Cpefibl.

Bce 3TH MUKpO3/1eKTpOMeXaHuUeCKre CUCTeMbl UMEIOT KpaTKoe
Ha3BaHre — MOMC. Oty ycTpoiicTBa 00beJUHSIOT B cebe
MUKDO3JIeEKTPOHHbIE U MUKPOMeXaHHYeCKre KOMITOHeHTHI.

B naboparopun Sandia 6611 cO37aH camMblii MajIeHbKHM 1[eTTHOM
MexaHUu3M (CM. pUC).

Paguyc ogHoit wectepuu R, = 180 mkwMm, a gpyrori Rz = 20 MKM.
HaiiuTe yryioByto CKOPOCTb BpalljeHUsi MaJIeHbKOH 111eCTepeHKH, eC/u
yIJIOBasi CKOPOCTb BpaltieHusi 60mbIioi o = 20 06/MuH. (4 6asia)

Today electronics has reached the nano size, and the miniaturization of mechanical mechanisms
such achievements can not boast. But microdevices already exist. They are planned to be widely
used in sensors of acceleration (accelerometers), velocity sensors, environment analyzers.

These microelectromechanical systems are called — MEMS. These devices combine
microelectronic and micromechanical components.

The smallest rotating chain mechanism was created in Sandia laboratory (see figure).

The radius of the first gear is R; = 180 pm, and the other has radius R, = 20 pm.

Find the angular velocity of the smaller gear, if the angular velocity of the large one is @ = 20
Rev/min. (4 points)



Pemienue:

[TockonbKy MPOCKasb3bIBaHUS HET, TO OCTOSTHHOM SIB/ISIETCS IMHEeMHAsi CKOPOCTb.
V.=V,
o, R,=w, R, , oTKyza

o, R,

=2006/ muH 180 mkm
5 MKM

®,= =18006/ MuH



